K0748_B
E2tAE WY JE 3 712

E2 AH|OIY|A OIEIA ERIK]
HY/MIE o[0IX]|

=25

© HEINRICH KIPP WERK GmbH & Co. KG

LHEJ} Q!

X
02

o
ol

™:

4stxiel K|
A &2|H.
1.4305.

hva o
E g,

o> o[> 2
O am ol pm
e

/\E-||°|E-||/\ /\EI H.|x-|

a ' gdstxel =Xl s,
LEAL &2|E 1.4305.

f= El 1.4305.

]]>|

I
»
oo
4
il
ne
N
>
0x
4>
A
I
o
1=

Ao > B
oJd > ol umrg
Eure 8
w20
IT o L]
=

bl
i
ou
0 1

I

0_|I
> |0
u

o
o
IIIIO

7t HetAH ElE
+OFDF CHE ’é.h—;‘ fIx
HIZg & FEo| U
202 [:H;;ﬂol- 4= 0l

0I=01IH ol HE 9|

rl:l]]
_|'-_HIHI
> |m

> [

2 Ool8E =+ ‘BA'QLlEP
OlHlA ZHK|= 7|E QI
= MEuIch gLt B2

L,IEF EtE2 ME SRZ

r-|-

H

=
(%)
£
Ja
el

K f; e
M
e
>

>
0o

o HI

é

P
I}

o
ol

kol BYE 0 AT Pls 28 B0l et LSS AT
& Al XIME 2 £ E28 E4aAAlL.

LEA:
EA A—|74| H-|7“|

www.kipp.com - info@kipp.com 1/3



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

°
=y — | -
Za|AE| M3 IR FH2E LET Qs B2 H{E2| ECO AE
=2 AH|I|A olHA ERIX]
=N
D2
=
|
‘ :
! SW1
i N : SW2
T~
-~
A u.J'
' (95
' D, !
D1
EZ=S 29
FEHS EbQJ 2 & D Di D2 L L1L2 AEE3 SW1 SW2 Fx30° A[E EfY T EZ
S Etd 2 max. Nm
F12 N F22%. N
K0748.02004060 B AE 4 M6 18 295 6 6 4 10 10 1 35 9 2
K0748.02004061 B AE] 4 M6x0,75 18 295 6 6 4 10 10 1 35 9 2
K0748.02004080 B AEl 4 M8 18 295 6 6 4 10 13 1 35 9 2
K0748.02004081 B AE 4 M8x1 18 295 6 6 4 10 13 1 35 9 2
K0748.02105080 B AE] 5 M8 21345 8 7 5 13 13 1,3 6 12 7
K0748.02105081 B AE 5 M8x1 21345 8 7 5 13 13 1,3 6 12 7
K0748.02105100 B AE 5 M10 21345 8 7 5 13 17 1,3 6 12 7
K0748.02105101 B AE] 5 M10x1 21 345 8 7 5 13 17 1,3 6 12 7
K0748.02206100 B AEl 6 M10 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.02206101 B AE 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.02206120 B AE] 6 M12 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.02206121 B AEl 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.02308120 B AE 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.02308121 B AE 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20
K0748.02308160 B AEl 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.02308161 B AE 8 M16x1,5 33 54 1210 8 19 24 2,3 6 13 20
K0748.02903060 B AE] 3 M6 14 255 6 5 35 8 10 0,8 35 8 2
K0748.02903061 B AEl 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 35 8 2
K0748.12004060 B  AHIQIBA AEl 4 M6 18 295 6 6 4 10 10 1 35 9 2
K0748.12004061 B  AHQIEA AR 4 M6x0,75 18 295 6 6 4 10 10 1 35 9 2
K0748.12004080 B AHIQIBIA AE 4 M8 18 295 6 6 4 10 13 1 3,5 9 2
K0748.12004081 B AHQBAAR 4 M8x1 18 295 6 6 4 10 13 1 35 9 2
K0748.12105080 B  AHIQIBAAEl 5 M8 21345 8 7 5 13 13 1,3 6 12 7
K0748.12105081 B AHQBAAER 5 M8x1 21345 8 7 5 13 13 1,3 6 12 7
K0748.12105100 B  AHIQIBA AEl 5 M10 21 345 8 7 5 13 17 1,3 6 12 7
K0748.12105101 B AHQBA AR 5 M10x1 21345 8 7 5 13 17 1,3 6 12 7
K0748.12206100 B  AHIQIBA AE 6 M10 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.12206101 B AHQEA AR 6 M10x1 25 41,7 10 8 6 14 17 1,8 6 12 15
K0748.12206120 B  AHIQIBA AEl 6 M12 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.12206121 B  AHQIHA AR 6 M12x1,5 25 41,7 10 8 6 14 19 1,8 6 12 15
K0748.12308120 B  AEHIQIBA AEl 8 M12 33 54 1210 8 19 19 2,3 6 13 20
K0748.12308121 B  AHQIHA AR 8 M12x1,5 33 54 1210 8 19 19 2,3 6 13 20

2/3



o
= = —_
S2AE HAYE gl 7I12E HEI = B2 BT ECO 28
E2 AH|I|A olHA FE&IX]
EE 2o
=Ty Yl EMAME D D1 D2 L L1l2 AE23 SWI1 SW2 Fx30° AN B8 Zg&d
S EbN = max. Nm
F12EN F22.N
K0748.12308160 B AEQIBA ARl 8 M16 33 54 1210 8 19 24 2,3 6 13 20
K0748.12308161 B AEQIPA AR 8 M16x1,5 33 54 1210 8 19 24 2,3 6 3 20
K0748.12903060 B AHQIBA AE 3 M6 14 255 6 5 3,5 8 10 0,8 3,5 8 2
K0748.12903061 B AH|IQIBA AR 3 M6x0,75 14 255 6 5 3,5 8 10 0,8 3,5 8 2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



